& TGIG
ANBAIR FrF faemst - R0 (8 4191)
Total questions : 80 Total marks : 80

1) HIFE A (R0 IIFPT RPIAR D AP ?

1

N

) 21CF
) PIPCH
3)IF
v 4) 8o

AT ; TP TGP WY S0 Td| et fFgeEn @ 12w 75 IG5 (ol 20| @ few

G IRPT AZCE FT AP QIR TIHITF AT AR (A @G BIPT IGHCH TR |
I ITPR T @G TG BITPR F AN KGR @

Wff I TRACTA (02) ARRIA SFFoA GIIPT #ATeTd I | GNRG TG TR S Jrarsy 4is
T, (TACO TR LT 00 HCOT M-TRoe |

[Bes . R, aaa-ea @if ]

2) QPTb FRARIR Y AR QT @A ffeTo T @ 7ib faf2s @19 8 <o 27 BId 5TaE 39
AJ?

1) 50°
v 2)Sbo°
3) »0°

4) d>vo°

AN ¢ a0 I 218 Reqeo @R vt saw oo xa @ 5t Jffte @10 Seom =, ot
TS 73 STACPIT AT dbo® | @ (PIAI FPHTH TOIE SR (@R STaE 0wo° | 4ib #[/F @R
AR $0° |

3) AT -



AN + /I FACTe 261 31 23 I | O Ty 2™ FIR FRP 0P HF NP I I |
I 20T PN [ | Rl AT POy i |
QPTG A1 SN IPAT-A-T8 IO GG 93| 2 TP A1 2RT AATI- ST 1T |

4) The plural form of 'Mouse' is-

1) Mouses

2) Mouse
v 3) Mice

4) Mices

AN : Mouse (34J) = singular 93 plural form 3 Mice.

5) Three-fourths of the work finished.

1) had
2) were

v 3) has been
4) have been

AT 2 SGRTO SRR CFd AV one Ik @RI 2 SR 53 ‘s’ (151 30 @Fd- two-
thirds.

53 2T one T MO 5103 ‘s’ @151 R a1 @&d- one-third.

WK 13 AR # Singular Noun T Singular Verb @32 Plural Noun T Plural
Verb |

QCd Singular Noun (work), Present Perfect Tense 4<% Passive Voice 28I has
been J{|
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9) It was | --- he wanted to sing to.

1) which

2) that

3) who
v 4) whom

A : 73 clause RFE AT Gap YINE noun/pronoun IRTH W3R antecedent o
person X gap 9 whom I1 | @& : It was | whom he wanted to sing to .

10) He came off with flying colours ' aItq
v 1) T5fa TR SToeT; WSd PR



2) fofd Tws 3= facr aciceTa
3) fofd 72 fRb1re RbiIte uesiecETd
4) RSER TA faeg fofd 510w wesieced

4T : "He came off with flying colours" I 53 1T Tigam 0% - Rofd (s
Pt} TG &A1 Come off with flying colours - A3 W G 210331 SRpety Ordid 7|

11) I wish | ----- the wings of a bird

1) have
v 2) had
3) owned
4) put on
YT : Sub + wish + sub + past 33941 | wish | had the wings of a bird. =
51 155 | BTER P9 sentence 4 be verb /7 were 2|

12) The synonym of 'Subsequent' is

1) Aurrent
2) Antecedent
3) Recent

v 4) Consequent

)
)
)
)

MM : Subsequent - #RTD! , Antecedent - 9[AST , Recent - AR5 , Consequent
- R |

13) Which is the correct sentence?

1) He is most perfect judge

2) He is a most perfect judge

3) He is a very perfect judge
v 4) He is a perfect judge

A : “Perfect” is an adjective which means 100%. “Perfect” means, It

cannot be better than that. That is why no modifier before “Perfect” is
necessary.

14) Choose the correct spelling
1) Definetion

2) Difination
v 3) Definition



4) Defination

A : The correct spelt word is : Definition ( 31%%sI) [ "Definition" refers to the
process of stating the precise meaning of a word, phrase, or concept. It
involves providing a clear and concise explanation of what the term means,
often using other words or examples to help clarify its meaning. Definitions
are important in communication, as they help ensure that people are using
the same understanding of a term, which is essential for effective
communication and avoiding misunderstandings. In some cases, definitions
may be formalized in dictionaries, glossaries, or other reference materials,
and they may be subject to debate or refinement as language and
understanding evolves over time. ]

15) Solicit means -----

1) Legal

2) Give
3) Bright

v 4) Seek

AT = Solicit -( ST I, T I, W7 BT, ATHIT 31, a5 3771 )- The word
"solicit" is a verb that means to ask for aor try to obtain something from
someone. It can also mean to make a request, appeal, or plea for
something, usually in a formal or serious way. Additionally, the word can be
used to describe the act of trying to persuade or influence someone to do
something, often by making offers, proposals, or requests.

Seek-(ATAdT T, 5ATT BT, QG BT, OIS BT ) - To try to find or discover
something, often by searching or investigating. For example, "The detective
was seeking clues to solve the crime." To attempt to obtain or achieve
something, often through effort or persistence. For example, "The athlete
was seeking to break the world record in the 100-meter dash." To ask for or
request something, often in a formal or direct way. For example, "The job
applicant was seeking an interview with the hiring manager.” To go to or visit
a particular place, often for a specific purpose. For example, "The pilgrims
were seeking spiritual enlightenment at the holy site."

16) The opposite of ‘optimism' is

1) pestilence

2) opportunities
v 3) pessimism

4) opulence



A : The opposites of "optimism" are generally considered to be
"pessimism" or "negativity." While optimism is a positive outlook on life,
pessimism is a negative one, where individuals tend to expect the worst
possible outcome. Negativity, on the other hand, is a general disposition
towards seeing and emphasizing the negative aspects of situations and
events.

17) What is the past participle form of put?

1) putten

2) had putten
v 3) put

4) putted

IIT -

Present Past Past participle

Put Put Put

18) Light: Blind

vl
2
3
4

Speeh: Dumb
Tongue:Sound
Language:Deaf
Voice:Vibration

~— N N N

AN : Light (A@); blind (9%); speech (IF91); dumb (&[T); tongue ([&a);
sound (*=7); language (SN1); deaf (31, FIA ATTT); voice (357); vibration
(@) | Blind I light (00 = a1 WK dumb IRF speech TS 1T d1| TG (F) |

19) Look over' means

1) neglect
2) choose
3) ignore
v 4) examine closely

4 : The phrase "look over" can have a few different meanings depending
on the context. Here are some possible interpretations:

To examine or inspect something quickly or casually. For example: "Can you
look over this report and make sure there are no errors?"



To oversee or monitor something. For example: "I need to look over the
project to ensure that it stays on track."

To glance at or give a quick look to something. For example: "I'll just look
over the schedule and see if | can fit in a meeting."

Overall, "look over" implies a quick or cursory examination, rather than a
thorough or detailed one.

20) What is the verb of the word 'shortly'?

1
v 2
3
4

) shorter

) shorten

) shortness

) Short

I : Shortly - SRTFCA, TG YN |

Short - (=15, AKGT, (adjective)

Shorter - Tor%1Po (@T (Adjective) Shorten - (@I <1, o 31, SHLBpes 1 (9D
Verb)|

Shortness - (=159, A6¥ (Noun) |

21) facss @AM personal pronoun?

A : Personal pronouns are words that are used to refer to people or things,
and they take the place of nouns. They are called "personal" because they
change depending on the person they refer to. The most common personal
pronouns in English are:

First person singular: "I"

Second person singular: "you"

Third person singular: "he", "she", "it"

First person plural: "we"

Second person plural: "you"

Third person plural: "they"

22) T 51 21 IR a1’ 97 3G

1) | do not drink tea
v 2) | do not take tea



3) I do not have tea
4) | do not like tea

TN 2 WY BT 919 D G A9 328G - | do not take tea.or | do not have tea.

23) The word 'Lunar' is related to

1) Light
v 2) Moon
3) Sun

4) Earth

4 : The word "lunar” is related to the moon. Specifically, it refers to things
that are related to or associated with the moon. For example, the lunar cycle
refers to the monthly phases of the moon as it orbits the Earth, and a lunar
eclipse occurs when the Earth passes between the sun and the moon,
casting a shadow on the moon. The word "lunar" comes from the Latin word
"luna," which means "moon."

24) Sanction' means

1
v 2
3
4

Prohibit
Authorization
Verify
Devaluating

N— N N N

A : The word "sanction" can have a few different meanings depending on
the context. Here are some possible interpretations:

To approve or authorize something, often with official or legal power. For
example: "The government sanctioned the construction of a new airport."
To impose a penalty or punishment on someone or something, often as a
result of a violation or offense. For example: "The school sanctioned the
student for cheating on the exam."

To formally or officially endorse or recognize something. For example: "The
organization sanctioned the use of renewable energy sources."

Overall, "sanction" implies an authoritative or official action, either to
approve or authorize something or to impose a penalty or punishment for
wrongdoing.

25) There is no royal road learning.

1) by
v 2)to



3) for
4) from

AT : 8 Royal road to (sth)- 32 21, 7S oM

26) Which one is similar to 'Synopsis' ?

vl
2
3
4

Summary
Resume
Brief

Short Note

N— N N N

JMAT : Synopsis Y - 1T, Brief @ - 527 ¢ , Short note oY - g KA
Summary WY - SREFGSR, STRIT ; Resume WY - 535 K1 a4id synopsis IR
similar 2% summary.
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I (A,

8 Td TG 23R X8 BLAK 51O IS AR (SOI2 HIS*R8) = b0 T2
QYd, PTG 23T 8 T (HIG IAN (b0 - 380) = 80 IBA

VIt 5T RAA (80/8) = Y0 I2J

64) a3 TG 791 52 BT TG o0 OF IECZ | ¢ BT Yo AT THR II0110 30 fO5Nce FWE?

1) v8¢°

2) >¢o°

v 3)>ee°

4) Yvo°
T+ S TOR YR V0° B ¢ TT d&o°

> FAfaT 9@ (5R)° o so ffacs ¢©
GG = (DQO + €)° = >QQ°

65) a+b = 9,a-b=7 T ab = I9?

1)7
2) 6
3)9
v4)8

AT : AR, a + b =99Ra-b=7
~ab = {(a + b)?2-(a-b)? }/4
=(9%-2)/4

= (81 - 49)/4

= 32/4

=8
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T : 4R, T Fers Rcarze x © ofSi sefe 7, 240/x-240/x+1=1
=>240x+240-240x/x(x+1)=1
=>240=x?+x
=>x2+x-240=0
=>x2+16x-15x-240=0
=>X(x+16)-15(x+16)=0
=>(x+16)(x-15)=0

AL,

x+16=0

=>X=-16 [ RIS K ]

QT, Xx-15=0

=>x=15

67) X3 = 64 XA X A T 302

A
w N =
o U1~ W

I

A : x3 = 64
=>x3=43
X =4

68) T ATSIRP ST AT V8Y (@ TI5T P ARGCHE V> TRPTE AP?

v 1) 0¢,8¢,90,50¢,05¢
2) V¢,8¢,90,50¢,05¢
3) V&,80,4¢,550,05¢
4) 0¢,8€,90,550,05¢

JMYTT : (V8Y-VY)=05¢ U V> TFT TG BATIP ST T fAR FAT = VE,8€,90,50¢,05¢

69) Y,br,50 I STHIRGF TG q,5 \3 x A SMTGP STGI AT A X - I [ FO?



QA QUCA, U + b+ 50/0 =8/0 = A
QIK, A+ +b6/0 =80 =
NSIRINAE qmmaamwvcmﬂwmi‘iﬂﬁ 3 5TG STA1d 27 O 5D b I |

70) 0.005/(0.5x0.3)

1)5.5

2) 0.005

3) 0.05
)

v 4)05

YT 2 0,005 /0.5 *0.)
= 0,005/.0d

=0

71) GBI STEPIN TGO CFaPe 588 I5(APP | STAPIT SARO IRATL QP10 O O 9P
XA TR IO AT ?

T : T S,

FAPIN fTQCOR CFape = 52 * Bf * Bl
U0 IR X T, 5/ X X XdR =588

Or,_ X = br

or, X =<8

72) #b0T TOT AT QTS IATFCH 0,€,9,b \3 Y0 GG W AT IS ATSIEAT | TS5 91
TOISEAT 2[R QA ITS?

AT 2 0,&,9,b \3 S0 U< THIS = b-8o
YIS br8OGTIS - BT IS |
WU fI T b8o v <1 58 fifdn
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T Tod ZICAT HLA $O?
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2) )
3) Yo
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AT = VR AR YR ACE = S¢ B

b man = )QXO{ "
{O mnmn - ()QXO{)/{O "
=8 G

QA 7Id = (38 - d¢) = » Td

BTq W 20 Ted & amy o9

74) T SIRYTIT 5/ W MY Y QTS PACET RS DR /0 WX T | A PO?

1) V¢
2) &R
3)R0
v 4)0Y

AN : 4, SR T
2PITCD,
(PR) + Y = (RF/9)

= (RF/9) - (FR)
A,V = (83 - V)Y
d1, P =UxY
LT =0y

75) V(0.000009) =
1)

2) O 03
3)0
v 4)

T : vV0.000009 = 0.003

76) a-[a-a-(a-1)]=

1) 2a+1
v 2) 2a-1



4) -1

[T :ala-a-(a-1)]

=a-(-a+1)
=a+a-1
=2a-1
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SR BT (S120a] (6T Yoo IR @RI JIR?

AT 2 ST BT<PT foracaq 51T ToPsT S IR Q@R (@1 SR fA0R 1Y 55100 |
00 IR AT @I dxdoo FABR 1Y FFSD = D00 1D .2 RCEAIALR 71y 5o |
fACT 210R 7R = 5.2 Reenfio= |

A ; FRR Rs R are 3mSR | RS S TR | fwrces aereiy uv Sesrfese
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79) TSR \3 WTET0P FIANISIRL JGT LT QRO ?

N —

v

w

) TR

) IORPLTH
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AT ; TEIFOR AN GHATHISK \3 WLATOP FIAASRE T&F PECZ | QD WPPT TR TR
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